
1.ln the figure, PQRS is a rectangle, PQT is a right-angled triangles and RSU is an isosceles triangle, QUS is a straight

line. Find the value of x and y

2.ln the figure, PRST is a parallelogram. PQR is an isosceles triangles. Find < PQR.

intrFlim, pRSr Et*'tlWlilY,,, PaR Et-$fr*=Hfri' :k*ft pqn.

3.ln the figure, ABCD is a kite.

4aBFf, ;,-, aeca ftR+)Y,,,

Find the value of x and y.

x(x5 yzl+"

4.Find the number of sides of a regular polygon whose interior angles are 140' each.

-/f k.4tJYtT,tfrR)t t+0" , &)1l,84rtffffifu49*
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5.ln the figure, find value of x

inEFlJi;rr, :ii x iH"

6. ln the figure, AE=l-8cm, BC=15cm, AC=12cm, find the length of BD.

4[[5FFzi, AE=18cm, BC=15cm, AC=12cm,* BD fi!Ktr"

7.ln the figure, PQST is a square and PUT is an isosceles triangle. R is a midpoint of QS. Find the area, in cm3 of the
shaded region.

lnKBrz;, pasr €+il,/i'14, pur €Sfl.S -Rffi, R E es 11!,f,r?, ,(FBEzHiffifX.

8. ln the figure, given that ABC is a right-angled triangle. AD= 4cm, DC=2cm and BD = 5cm. Find the length of x

inlSlBizr, ABC E+Hft=Rffi, aD= 4cm, DC=2cm.fU sD = 6cm., * x'{E"

A

1

D
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c
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9.ln the figure, PQRS is a trapezium. Find the length of x

frg&Ffirs, PQas ).tt*'Y;, * x ZlH.

P

10. ln the figure, BCED is a square. Find the length of AF and AD

iuKlfr;:r, BCED Et-877{4, * nr 5 AD FilKE"

11. Prove LABC - LEDC. lf AB = 5, BC=2.5, CD=6, find length of DE.

fr.t$.WMgc* LEDC, fr AB=5, BC=2.5,cD=6,ri DE BIKE"

12. ln the figure, < ABE = < ADC , AB= 6, BC=Z, AE=4, ED=x, find x.

ln EFf al ' < ABE = < ADC , AB= 6, BC=2, AE-4, ED-x, ,jt x"
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13.1n the figure, AD=6cm, DC=2cm, if area of LABC is 48cm2, find area of LDBC

4nKl,9iri<, , AD=6cm, DC=2cm , EnagCfifiE{H€ 48cm2' >R logC E!ffiffl"

14.1n the figure, < Q= 40', 4p = 1 R = 30', find the value of x+y

4gK,ryim, < Q.= 40', qp = 1 R = 30',)& x+y ZiH.

15. ln diagram, LABCis an isosceles triangle with AB=AC, LACD is an equilateraltriangle. Given <BAC=30', find <BEC.

4nllEizr, AABCb+W= ffi)Ti, AB=AC, LACD R:t*d=ffif,,,, E<BAC=30',>tfr E.aEC"

16.1n diagram, <ACB=90", CDI-AB, <A=30o, AB=8cm, find BC, < BCD, BD and AD.

iUKFfzr, , <ACB=90", CDIAB, <A=30", AB=8cm,* BC, < BCD, BD fil AD"
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17.1n diagram, ABCD is a rectangle and CDE is a right-angled triangle. Given CE=l-2cm and F is the midpoint of CE, find

the area of the shaded region.

laB9fiA<, ABCD R.tK)t1i6,
e ts ar.^

cDE €tH frl'fult,, # cE=l2cm , F h cE H! +,#, , *FfiYtffiffF."

B

18.A hall of Bm by 4.5m will be covered by similar square tiles of sides 25cm each. Find the cost of covering the hall if
the tile is RM 4 per piece.

*+iLHHf.Hlv sm x 4.5m, El ?i{ zscm ktrtiF-n#6tru-#., HEh#E+kltll*,h RM 4,*Effi#filHB''t'f/t
t&"

19.1n diagram, PQRS is an isosceles trapezium. SQ bisects <PSR. Find the perimeter of whole diagram.

4nKJEIz;, paRS E--f#fE=ffiW, se x'JJ}<psR. 8E+,F!|fl K"

20.1n diagram, ABCD is a kite. inlSF[z;, ABCD EtEt#Yt"

i. State a pair of triangles which are congruent ifrt?ai15 4trltfllD)-frfli

ii, Find the value of x,y and z * x,y tfi z Z4H
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21. Given that each exterior angle of a regular polygon is 40", find its sum of interior angles.

--+ LfiAffiffttlffih t4o" , *11|.,8"4ilJY,,fi1frfu1p.

22.The sum of interior angles of a polygon is half of the sum of interior angles of a regular polygon which has an

exterior angle of 18'. lf one of the interior angles is 120" and the other interior angles are each equal to x, find the
value of x.

-+rL?trflitrtfrfrtaEE--trT?ibflr+H6rlfu Is" 
^frfufit-+" 

{itr4tt1Vtr't*# -+6r ffifr. tzo' ,

ffi-r+tb^fttE€f x, .& x iH"
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